ESERCIZI CAPITOLO 10. I SISTEMI LINEARI

. .
x—y_ 2271, 2(x — 3y +2z) =5—5x
2 3 350 {7x —3(x —y +2)=2z (1515 1)]
344 6x =3 _y+t4 = Y +> [indet.] \2(x +3y)+1=32y +2)
- 4 2 4
2x —3y 3z —1 .
| ) I x—3ay +tz=—a
351 {3x —ay — 5z = 5a
(3x+2y+4z=2 (2x +3ay + 2z =7a
x — 2y x+z [a=0,indet.;a # 0, (2a; 1; 0)]
+ +1=0
345 2 3 [(0;1;0)]
M_FL:), ’x—i-y-i-z:O
\ 2 2

352 {(a—x+(@+1y+az=-2 [indet.]

( +x +(a—1y+az=2
3(x +z)—2(y —4)=-5 (a )x + (a )y + az

346 {x —3y =44 +2) -3 [(—2;—1;—3)] )
z+3=2 —x ax —y +3z =4a
353 yax +y —2z=a
- (2ax —3y —z=0
[a=0,indet;a # 0, (2; a; a)]

’

2 1
—?(x+y)+2(z+1)=?

1 3 3,1
147 ?x+7,z=y—1 5,5

x—2) =x+y X +2a —z=—2a
| 354 {3x —ay =5z + 2a
X tay=z

ri(x+ N la# 0, (5a; — 2; 3a); a = 0, indet.]
3 Y

7 1 1 .
348 \ e =—(+1)+1 {@Tﬂﬂ x —3y+5az=a
3 355 {2x — 6y =a — 10az
Lz+y=7x+1 (x +y =4a

[a # 0, impossibile; a = 0, indet. ]

[ 4 2
—y —2x =z — —
3 3 bx —ay +z=0

2 3 3 ) bx + ay + z = 2ab
x=2(y — 2) _ — 7 ) _ .
L [a=0,a=—b,indet;a#0Aa# — b, (a; b;0)]

2x —3az =5(a —y)
357 )2az —2y = —5a —3x [a=0,indet;a # 0, (—a;2a;1)]
5y +2x =a(l+7z)

bx —y =4b

152 2bx —2b=(b —-1)z—y {bzo,bz—i,indet.;b¢0/\bi—i,(Z;—Zb;O)]
4y +6b = 3bz — bx 4 4

. Bergamini, Trifone, Barozzi Matematica.blu 2 © Zanichelli 2011 Algebra, Geometria, Probabilita



